113

A

———

dB-Killer 59B
P/N 3014228803

100

S.S. Bracket

P/N 0814379501

P/N 200294

Plain washer @8x @ 17

Allen screw M8X40
P/N 200993

Muffler
P/N 3014228486

270

/]
E13)92r-02 10423

P/N 307572505

Carbon clamp FM4S

Allen screw M8X25

P/N 200314

Aluminium spacer
@27X8,5
P/N 204321

Welded dB-Killer N°71
P/N 3014349801

ATTENTION!

NINJA 650/ Z 650 SPECIFIC

P/N 206061 "158A"

3x Flange Nuts M8
P/N 200298

ART.14379EBKN

28.5x@20x10
P/N 200414

Aluminium spacer

2x Aluminium spacers

28.5xD19.5xD25x8

P/N 204654

S.S. Pipe
P/N 3014379209

Flange Nut M8
P/N 200298

-t ‘ ASSEMBLY DRAWING
A $ 35,1 Allen screw M8X35

| @385] o P/N 200319

$.S. Bushing - 80 _ 2x Washers

P/N 206060 3.S. Flange sp.6mm ‘,f%@zgésm

28.5x219.5x@225x15
P/N 207023

Allen screw M8X45
P/N 201450

CATALYTIC

2x S.S. Flanges 158A
P/N 206061

2x S.S.
P/N 206060

bushings

S.S. Pipe LHS
P/N 308579201

- ,<_’/
v

OPTIONAL
P/N 5683

/ Y
O MI12x1.25

Pipe 2/
P/N 301

1s.s
4379201

®e.35

Lambda Gasket INCLUDED

17.85x12.3x1.5

P/N 204091

Lambda Plug INCLUDED
M12x1.25x9 INOX
P/N 205123

6x Short Spring
P/N 303949001

KAWASAKI Z 650 / Z 650 RS / NINJA 650 / VERSYS 650
(Also fits 35kW version) (Fits with original panniers)

FULL SYSTEM - LV ONE EVO - BLACK - APPROVED

S.S. Pipe RHS
P/N 308579202




	DT-14379EBKN
	Vista del disegno121
	Vista del disegno122
	Vista del disegno123
	Vista del disegno124
	Vista del disegno125


